LakeCounty Division of Transportation						
Section  Description  CPMS Pin	t: 2021 Pavement Marking an: 21-00000-15-GM Remove and replace distremants Pavement Markers & replace	Summary of Bids Receinand Marker Replacement ressed Pavement Markings; Install Flace damaged & missing reflectors	Recessed			
<b>Bidder</b> Precision Pavement Markings, Inc. RoadSafe Traffic Systems, Inc. Engineer's Estimate	Address 1220 Bell Court 12225 Disk Drive	<b>City, State, Zip</b> Pingree Grove, IL 60140 Romeoville, IL 60446	<b>Bond</b> Bid Bond Bid Bond		64.89%	
Design Finance Construction	IDOT(2)  Bid Tab File  Project File	Contract Bidder Resident Eng. Request By Mail		County Engineer Mgr Capital Prograr		



## **Return Bid Tabulation**

Project: 2021 Pavement Marking and Marker Replacement

Section: 21-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged & missing reflectors

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	RoadSafe Traffi	c Systems, Inc.	Precision Paveme	ent Markings, Inc.
No.	1 ay oode	Description	Quantity	Offic	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1		THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	12,059.3	SQ FT	\$4.50	\$54,266.85	\$9.00	\$108,533.70	\$4.00	\$48,237.20
2		THERMOPLASTIC PAVEMENT MARKING - LINE 4"	321,267.0	FOOT	\$0.60	\$192,760.20	\$1.00	\$321,267.00	\$0.50	\$160,633.50
3		THERMOPLASTIC PAVEMENT MARKING - LINE 6"	46,521.0	FOOT	\$0.90	\$41,868.90	\$2.00	\$93,042.00	\$0.72	\$33,495.12
4		THERMOPLASTIC PAVEMENT MARKING - LINE 8"	2,310.0	FOOT	\$1.30	\$3,003.00	\$4.50	\$10,395.00	\$1.00	\$2,310.00
5		THERMOPLASTIC PAVEMENT MARKING - LINE 12"	40,465.0	FOOT	\$2.00	\$80,930.00	\$4.50	\$182,092.50	\$1.50	\$60,697.50
6		THERMOPLASTIC PAVEMENT MARKING - LINE 24"	4,098.0	FOOT	\$4.50	\$18,441.00	\$9.00	\$36,882.00	\$4.00	\$16,392.00
7	78006100	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	4,290.9	SQ FT	\$45.00	\$193,090.50	\$45.00	\$193,090.50	\$25.00	\$107,272.50
8		PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,904.0	FOOT	\$30.00	\$57,120.00	\$25.00	\$47,600.00	\$17.00	\$32,368.00
9	/8006180	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 24"	477.0	FOOT	\$45.00	\$21,465.00	\$50.00	\$23,850.00	\$34.00	\$16,218.00
10		MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	780.6	SQ FT	\$7.50	\$5,854.50	\$20.00	\$15,612.00	\$9.00	\$7,025.40
11		MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	2,350.0	FOOT	\$1.00	\$2,350.00	\$4.00	\$9,400.00	\$1.50	\$3,525.00
12		MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	2,621.0	FOOT	\$2.00	\$5,242.00	\$5.00	\$13,105.00	\$2.25	\$5,897.25
13		MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	448.0	FOOT	\$5.00	\$2,240.00	\$15.00	\$6,720.00	\$4.50	\$2,016.00
14	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	424.0	FOOT	\$7.50	\$3,180.00	\$20.00	\$8,480.00	\$9.00	\$3,816.00
15	78100300	REPLACEMENT REFLECTOR	2,487.0	EACH	\$18.00	\$44,766.00	\$25.00	\$62,175.00	\$9.25	\$23,004.75



## **Return Bid Tabulation**

Project: 2021 Pavement Marking and Marker Replacement

Section: 21-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged & missing reflectors

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	RoadSafe Traffi	c Systems, Inc.	Precision Paveme	nt Markings, Inc.
No.	i uy oouc	Beschpaon	Quantity	Onic	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
16	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	10.0	EACH	\$50.00	\$500.00	\$375.00	\$3,750.00	\$10.00	\$100.00
17	X0327979	PAVEMENT MARKING REMOVAL – GRINDING	210,576.0	SQ FT	\$0.50	\$105,288.00	\$0.75	\$157,932.00	\$0.30	\$63,172.80
18	78300202	PAVEMENT MARKING REMOVAL – WATER BLASTING	234.0	SQ FT	\$30.00	\$7,020.00	\$100.00	\$23,400.00	\$12.00	\$2,808.00
19	LC783031	GROOVING FOR RECESSED PAVEMENT MARKING 31"	477.0	FOOT	\$8.00	\$3,816.00	\$100.00	\$47,700.00	\$10.00	\$4,770.00
20	X0320000	GROOVING FOR RECESSED PAVEMENT MARKING 10"	7,017.0	FOOT	\$1.25	\$8,771.25	\$5.00	\$35,085.00	\$0.90	\$6,315.30
21	X2700003	GROOVING FOR RECESSED PAVEMENT MARKING 8"	9,024.0	FOOT	\$1.00	\$9,024.00	\$4.75	\$42,864.00	\$0.60	\$5,414.40
22	LC780031	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 4"	9,984.0	FOOT	\$5.50	\$54,912.00	\$8.00	\$79,872.00	\$4.25	\$42,432.00
23	LC780033	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 6"	7,017.0	FOOT	\$8.00	\$56,136.00	\$12.00	\$84,204.00	\$6.50	\$45,610.50
24	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$40,300.00	\$40,300.00	\$70,000.00	\$70,000.00	\$1.00	\$1.00
25	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	207,131.0	FOOT	\$0.40	\$82,852.40	\$0.40	\$82,852.40	\$0.28	\$57,996.68
26	X7800835	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 6 INCH	32,778.0	FOOT	\$0.70	\$22,944.60	\$0.75	\$24,583.50	\$0.42	\$13,766.76
27	X7800845	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 8 INCH	11,413.0	FOOT	\$1.00	\$11,413.00	\$1.50	\$17,119.50	\$0.56	\$6,391.28
28	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	628.0	EACH	\$50.00	\$31,400.00	\$75.00	\$47,100.00	\$45.00	\$28,260.00
29	X7830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	6,736.2	SQ FT	\$6.00	\$40,417.20	\$15.00	\$101,043.00	\$5.00	\$33,681.00



## **Return Bid Tabulation**

Project: 2021 Pavement Marking and Marker Replacement

Section: 21-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged & missing reflectors

Item No.	Pav Code	Description	Quantity	Unit	Eng Estimate		RoadSafe Traffi	c Systems, Inc.	Precision Pavement Markings, Inc.	
	,	•			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
30	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	960.0	FOOT	\$0.50	\$480.00	\$10.00	\$9,600.00	\$0.40	\$384.00
31	X7830084	GROOVING FOR RECESSED PAVEMENT MARKING 19"	1,904.0	FOOT	\$5.00	\$9,520.00	\$20.00	\$38,080.00	\$4.00	\$7,616.00
		Bid Total				\$1,211,372.40		\$1,997,430.10		\$841,627.94



# **Return Bid Details**

Project: 2021 Pavement Marking and Marker Replacement

**Section:** 21-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged & missing reflectors

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Ullit	Unit Price	Extnd. Price	Price	Price	Price
1	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	12,059.3	SQ FT	\$4.50	\$54,266.85	\$4.00	\$9.00	\$6.50
2	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	321,267.0	FOOT	\$0.60	\$192,760.20	\$0.50	\$1.00	\$0.75
3	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	46,521.0	FOOT	\$0.90	\$41,868.90	\$0.72	\$2.00	\$1.36
4	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	2,310.0	FOOT	\$1.30	\$3,003.00	\$1.00	\$4.50	\$2.75
5	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	40,465.0	FOOT	\$2.00	\$80,930.00	\$1.50	\$4.50	\$3.00
6	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	4,098.0	FOOT	\$4.50	\$18,441.00	\$4.00	\$9.00	\$6.50
7	78006100	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	4,290.9	SQ FT	\$45.00	\$193,090.50	\$25.00	\$45.00	\$35.00
8	78006150	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,904.0	FOOT	\$30.00	\$57,120.00	\$17.00	\$25.00	\$21.00
9	78006180	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 24"	477.0	FOOT	\$45.00	\$21,465.00	\$34.00	\$50.00	\$42.00
10	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	780.6	SQ FT	\$7.50	\$5,854.50	\$9.00	\$20.00	\$14.50



# **Return Bid Details**

Project: 2021 Pavement Marking and Marker Replacement

Section: 21-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged & missing reflectors

Item	Pay Codo Description		Ou and the	l lm:4	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
11	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	2,350.0	FOOT	\$1.00	\$2,350.00	\$1.50	\$4.00	\$2.75
12	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	2,621.0	FOOT	\$2.00	\$5,242.00	\$2.25	\$5.00	\$3.63
13	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	448.0	FOOT	\$5.00	\$2,240.00	\$4.50	\$15.00	\$9.75
14	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	424.0	FOOT	\$7.50	\$3,180.00	\$9.00	\$20.00	\$14.50
15	78100300	REPLACEMENT REFLECTOR	2,487.0	EACH	\$18.00	\$44,766.00	\$9.25	\$25.00	\$17.13
16	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	10.0	EACH	\$50.00	\$500.00	\$10.00	\$375.00	\$192.50
17	X0327979	PAVEMENT MARKING REMOVAL – GRINDING	210,576.0	SQ FT	\$0.50	\$105,288.00	\$0.30	\$0.75	\$0.53
18	78300202	PAVEMENT MARKING REMOVAL – WATER BLASTING	234.0	SQ FT	\$30.00	\$7,020.00	\$12.00	\$100.00	\$56.00
19	LC783031	GROOVING FOR RECESSED PAVEMENT MARKING 31"	477.0	FOOT	\$8.00	\$3,816.00	\$10.00	\$100.00	\$55.00
20	X0320000	GROOVING FOR RECESSED PAVEMENT MARKING 10"	7,017.0	FOOT	\$1.25	\$8,771.25	\$0.90	\$5.00	\$2.95
21	X2700003	GROOVING FOR RECESSED PAVEMENT MARKING 8"	9,024.0	FOOT	\$1.00	\$9,024.00	\$0.60	\$4.75	\$2.68



# **Return Bid Details**

Project: 2021 Pavement Marking and Marker Replacement

**Section:** 21-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged & missing reflectors

Item	n Pay Code Description		Oversity	l lmi4	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
22	LC780031	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 4"	9,984.0	FOOT	\$5.50	\$54,912.00	\$4.25	\$8.00	\$6.13
23	LC780033	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 6"	7,017.0	FOOT	\$8.00	\$56,136.00	\$6.50	\$12.00	\$9.25
24	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$40,300.00	\$40,300.00	\$1.00	\$70,000.00	\$35,000.50
25	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	207,131.0	FOOT	\$0.40	\$82,852.40	\$0.28	\$0.40	\$0.34
26	X7800835	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 6 INCH	32,778.0	FOOT	\$0.70	\$22,944.60	\$0.42	\$0.75	\$0.59
27	X7800845	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 8 INCH	11,413.0	FOOT	\$1.00	\$11,413.00	\$0.56	\$1.50	\$1.03
28	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	628.0	EACH	\$50.00	\$31,400.00	\$45.00	\$75.00	\$60.00
29	X7830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	6,736.2	SQ FT	\$6.00	\$40,417.20	\$5.00	\$15.00	\$10.00
30	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	960.0	FOOT	\$0.50	\$480.00	\$0.40	\$10.00	\$5.20
31	X7830084	GROOVING FOR RECESSED PAVEMENT MARKING 19"	1,904.0	FOOT	\$5.00	\$9,520.00	\$4.00	\$20.00	\$12.00
		Bid Total				\$1,211,372.40			